
Q- The threshold wavelength for emission of electrons from a given surface is 320nm. 
a) What will be the maximum kinetic energy of ejected electrons when the wavelength of 
the incident light is changed to 350nm. 
b) What will be the maximum kinetic energy of ejected electrons when the wavelength of 

the incident light is changed to 250nm?  
 
The Einstein’s equation gives the KE of the photo electrons as  
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Where 0 s the threshold wavelength of the light incident for photoelectric emission 
 
a) As the incident wavelength 350 nm is larger than the threshold wavelength 320 nm, the 
electrons will not be ejected and hence no question of the kinetic energy. 
 
  
b) What will be the maximum kinetic energy of ejected electrons when the wavelength of 

the incident light is changed to 250nm? 
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